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1: #include <stdio.h>

2: #include "rational.h"

3:

4: int main(void)

5: {

6: struct rational a, b, x;

7: char op;

8:

9: printf ("?");

10: scanf (" (%d/%4) %c(%d/%d)", &a.nu, &a.de, &op, &b.nu, &b.de);
11:

12: if (op == ’+’) x = g_add(a, b);

13: else if (op == ’-’) x = q_sub(a, b);
14: else if (op == ’*’) x = q_mul(a, b);
15: else if (op == ’/’) x = q_div(a, b);
16:

17: if (x.de < 0) {

18: x.nu = (-1) * x.nu;

19: x.de = (-1) * x.de;
20: }
21:
22: printf ("=(%d/%d)¥n", x.nu, x.de);
23:
24 return O;
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$ p2exercise0902.exe

sqrt( 1)=1.000000000000000
sqrt( 2)=1.414213562373095
sqrt( 3)=1.732050807568877
sqrt( 4)=2.000000000000000
sqrt ( 5)=2.236067977499790
sqrt( 6)=2.449489742783178
sqrt( 7)=2.645751311064591
sqrt( 8)=2.828427124746190
sqrt ( 9)=3.000000000000000
sqrt (10)=3.162277660168380
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1 1596 [1] 0.159600
2 1683 [2] 0.168300
3 1689 [1] 0.168900
4 1717 [5] 0.171700
5 1667 [2] 0.166700
6 1648 [7] 0.164800




